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1 |Pycckuii s3bIK* 3-10 1 |Buonorus* 1-6

¢ 2 |Pycckuif a3pIK* 3-10 ¢ 2  |Buonorus* 1-6

y y

6 3 |Maremaruka* 3-4 6 3 | Xumus* 3-7

o 0

o 4 |Maremaruka* 3-4 o 4 | Xumns* 3-7

T T

a 5 |®usnka* 2-11 a 5 |Pycckuit s3pIx* 3-5
6 |Dusuka* 2-11 6 |Pycckuit si3pix* 3-5
1 |benopycckuit s3bIK* 1-4 1 |MaremaTtuka* 3-4

¢ 2  |Bemopycckmit s3pIK* 1-4 ¢ 2 |Maremaruka* 3-4

y y

0 3 |Maremaruka* 3-3 6 3 |Benopycckuit a3b1k* 1-3

o 0

o 4 |Maremaruka* 3-3 o 4 |Benopycckuii s3pIK* 1-3

T T

a 5 |®uzuka* 2-2 a 5 |Pycckunii s3bIKk* 3-1
6 |Dusuka* 6 |Pycckuit si3pix* 3-1
1 |Pycckuii s3bIK* 3-5 1

¢ 2 |Pycckuit si3pix* 3-5 ¢ 2

y y

6 3 |Benopycckuit a3bIk* 1-4 6 3 |Pycckuii s3bIk* 3-10

0 0

o 4 |Benopycckuii s3bIK* 1-4 o 4 |Pycckwit a3pIk* 3-10

T T

a 5 |OOmmectBoBeneHne™® 3-15 a 5 |Benopycckuit s3b1k* 3-8
6 6 |Bbemopycckwii s3pIK* 3-8
1 |benopycckuit s3bIK* 3-8 1 |OO6wecTBoBeneHUE™ 3-15

¢ 2 |Benopycckwii s3bIK* 3-8 ¢ 2 |O6mectBoBeneHne™® 3-15

y y

0 3 |Pycckwuii si3pIk* 3-1 6 3 |Benopycckuii a3b1k* 3-8

o 0

o 4 |Pycckuit a3pIk* 3-1 o 4 |Benopycckuii A3bIK* 3-8

T T

a 5 [Xumus* 3-11 a 5 |Pyccknii si3bIk* 3-10
6 | Xumus* 3-11 6 |Pycckuii si3pik* 3-10
1 | Xumus* 3-7

¢ 2 | Xumus* 3-7

y

6 3 |Pycckuii si3pIk* 3-5

o

o 4 |Pycckuif a3b1K* 3-5

T

a 5 |Bbuomorus* 1-6
6 |buomorus* 1-6
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benopycckuit s3p1k* / Pycckuii

SI3BIK *

1 - 1-3/3-2 1
S3BIK
= ¥ =
c 2 Benop*yCCKI/m s3bIK* / Pyccknit 1-3/32 ¢ 2
y SI3BIK y
6 3 |[MaremaTnka* 3-2 6 3 [ Xumus* 3-11
o §
o 4 |Maremaruka* 3-2 o 4 | Xumus* 3-11
T T
a 5 |®usnka* 3-3 a 5 |buonorus* 3-7
6 |Pusuxa* 3-3 6 |Buonorus*® 3-7
1 |Maremaruka* 3-2 1 |Maremaruka* 3-3
¢ 2 |Maremaruka* 3-2 ¢ 2 |Maremaruka* 3-3
y y
6 3 |Dwusuka* 2-2 6 3
o §
o 4 | Ousnka* 2-2 o 4
T T
a | 5 a | 5
6 6
1 |Hcropus benapycu* 2-1 1
¢ 2 |Ucropus benapycu* 2-1 ¢ 2
y y
6 3 |OOmectBoBeneHNE® 3-15 6 3
0 §
) 4 |OG6miecTBOBEIEHHE™ 3-15 0 4
T T
a 5 a 5 |Benopycckuit s3b1k* 1-4
6 6 |benmopycckuii s3pIk* 1-4
= o =
1 Xuns 3-11 1 Eenopzccxlxm sI3BIK* / Pycckmit 1-2/2-10
SI3BIK
= - =
¢ 2 | Xunmust® 3-11 ¢ 2 Benopgccxun A3bIK* / Pycckuit 1-2/2-10
y y SI3BIK
= o =
6| 3 f:}ﬁipf coxmit AspIk* / Pycermit ) 55 19 6 | 3 |Mcropus Benapycu* 2-1
o §
= . =
o 4 ﬂBge:Izpzccmn Azpuc* / Pyccicuii 1-2/2-10 o 4  |Hcropus benapycu™ 2-1
T T
a | 5 a | ®
6 6
1
¢ 2
y
6 3 |buomnorus* 1-6
o
o 4 |\Bbuonorus*® 1-6
T = ¥ =
. 5 Benop*yCCKI/m s3bIk* / Pycckuit 1-2/2-10
SI3BIK
= - =
6 benopycckuit s3p1k* / Pycckuii 1-2/2-10




